“

O

*

April / May - 2016

RH-36307

Third Year B. Com. Examination

Seat No.

Management Accounting : Paper - V

Time : 3 Hours] [Total Marks : 100
q sz RB2en Alked wsl Aadu QA yau 9 ¢ R0
gl 0¥ 01y | Mhasdl R0TY 0%
$(5adl drydl 4,000,000 | ¢,00,000 | g{lA-Hsim ©,00,000 |10,00,000
1ozl As. Al ¥,00,000 | 3,00,000 | ¥ll-H 4,00,000 | 3,00,000
UM, A 2,00,000 | 240,000 | sftu: 1,30,000 | 1,£8,000
¢nl &z 3,00,000 | 3,00,000 | sl 3,34,000 | 38,410,000
8 »laiige 2,40,000 | 3,00,000 | @is 2,449,000 | 3,£0,000
ARER §,¢0,000 | 3,30,000 { A 30,000| 4w,000
edlgdl 30,000 40,000 | 2oUBl Ysde @i ¥,000 3,000
Ygadiel ol weuR ¢ 000 y,000 | ulafis wal 2¢,000 ¥, 000
1¢,8¢,000 | 24,34,000 9¢,£¢,000 [21,34,000
ay - 2uledl :
LOY R0%Y
&6 A=A 10,00,000 | 1¥,00,000
EEN R 3,234,000 | ¥,10,000
o1 i 5383 udedl All gl 2,10,000 | 3,€0,000
(s23u) &2 uwoy 8.)

GuAse lsdl el 1A-n ol DAl

(a)
(2)
(3)
()
()

SRS el

Y el

naldl el '
Taier oplr (320 Raw)
s Guasll JRIR,

Yql

RH-36307 | 1

[ Contd...



ol e Auaziell fa-l

oiLgia) dairl sl 8. -

slzad dayd
0%l [é=R
weAlUd s Q8L
CEIEEEETE)
siHaz

LWL @
A3l 22l%
2alsizl

aelldd

£ ,00,000
2,40,000
1,000,000
E,€0,000

{0,000
3,%¥0,000
¥, 0,000
2,£0,000

Y,000

aeleld)
2l

Grs 2352

w{lgl
J2121-G41R
CETIENEN
AYlEsy ma

YO $39 Gllerdl wiF)

S0 16l

1,E0,000
30,000
¥4,000
12,00,000
10,40,000
4,3R,000
1,283,000
1,329,400
3,238,000

{21 el sl 52

()

Alg, IRl

L0

)
)
)
¢) P
)
O

opRilTi

Aluel] gl Rl
AAasly ol
¥) ek oeldr (3t0 Raw)
s Gualdl oeid

S5l 944l U dudrAl R
Asidel i 42 anddl €2

dulelz el (320 Ba)

2 () DA wledl urell nm RiP2s oRAudis uas duR %) ¢ 0

yisi wdal

L CILEAE | 0% 2094 | Bresdl 0¥ 09
fdl 10,00,000 | 11,00,000" | wyd 40,000| ¥0,000
Ré-3 4,00,000 | 3,060,000 | w451 ¥,20,000 | €,80,000
AL U 3,00,000 | %,00,000 | ¥all-dl €,00,000 | ¢,00,000
NEINECTRREITY 1,%0,000 | 1,£0,000 | @l ,M0,000 | 3,910,000
sl AL ¥0,000 | 1,10,000 | Bdilid 3,00,000 | 3,%¥0,000
IR ¢G,000 gy,000 | olsfuas 3,00,000 R¥,000
gflédl 0,000 30,000 | wals vl 30,000 | 30,000

1¢,10,000 | 1¢,¥,000 1¢,%0,000 |1¢,¢¥,000
RH-36307 | 2 [ Contd...



eyl ksl
(1) 3. yo,000 AWy (Buds As el 3. 14,0000 4%,
(z) af ealiuq 259d 59U 3. ¥0,000
(8) wgllafl uz 3. o000l sl AoaAs S

(6) wigloguslly »iga 2ed g 7 A 23y i amell quil. 10
| DL

2 () Aswmeuns B2d 9 7 4 dldanaieusisdl 58 dd g W 7 10

(o) wiglozus(l »igel A WA Ykl a2 aslad qvil. 10

3 (a) o QBB ad 209 ade s 03 yura B 10
Asmels AL Brd . 3. €00
BsMEls AR M L, 3. 320
@2 A e 3. 38,00,000

sl s ¢
(a) «gimeasd ARl
() umdeligm duel, (Bisui »at W)
(8) 3. £,00,0004 «£l Aaady x3dl ARl
(¥) 3. 4,20,00,000 Wuz AL €3 dl dendl-d .
() 2Raiq dust wed g ? e seil gel avl 0

Y4l

3 (w) azg X »id 4z ¥ -l Gened @adl midl 4 4y 8. 10

(aotd qg X q Y
wigHels quiel Bua qEK <O
DUEElS HeHA HIEUHL | a¢ 130
Wsiele uea |yl ¥O Yo
selsEls MRl 82 10 0
asuels dlud Rl wad 1Y Y

sa RaR wi 3. 2,20,000 8.

RH-36307 ] 3 [ Contd...



o3 gugIRell e9d €la AR S5 drgrl Gane--l et sral ?
sMelR salst Az et adld aRl. ¥ ev,000 seals wll
2% dd B, e3s drgd ayHl 4y dUml 10,000 BsHld 4 U
dx 9. ayal ay -8 2l ud dg Gonteq B sl sl

(o) imasly fruell wglidl ey »udl A< 2430 w4 sdast 10
il
¥ o (1) Q8 ufsdl urell 9 209y W@ Al uensld die ¥ 10
sl o s
[aad 9-1-201% 39-12-01¥%
Assfuas 30,000 ¥0,000
Bieldl 13,000 1¥,000
aellgd 10,000 2,000
ysqei-l ofl vl 3,000 3,000
Arlgld 1¢,000 10,000
edlgdl ¢, 000 ¥,000
UMY YASS 400 200
AW YAsHis 120 B,
() unate su-ll RaBzaqn wist a3ai 03 yoroh 2dal 8. 10
det uefl 2sidl AL garilals uas QAR S,
L CICHAE 01% 0014 | [asd 01¥ 01
Szadl gl 3,00,000 | ¥,00,000 | ¥l4-4s1- 3,00,000 | 1,90,000
s gl 4,40,000 | 1,00,000 | ugll«dl q,£0,000 | 3,00,000
CICISERITE] ¥0,000 ©0,000 | sFar ¥4,000 | €0,000
NCIRECTL BRI 30,000 ¥¢,000 | BBl 1,30,000 | 3,00,000
ylud B ¥3,000 40,000 | @ls 99,000 | 1,0¢,000
RHAR) Yy,000 ¢3,000 | dzliéd 30,000 | 30,000
adldd 20,000 1£,000 | glg 43 U 14,000 10,000
ETEETREEETEY ¥0,000 40,000 | 65 Ras 10,000 ¢,000
£,90,000 | ¢,19,000 £,99,000 | ¢£,19,000
wY gt
RE-36307 ] 4 [ Contd...



oy (o) il ga (A A e, o wo
(1) aduiqd wdlsuFa-d ughi dueadl. 10

o (2) Aldid ugar ughicl euvan sl 3 siuel a Azgiael qeldl, 10
() »ieloru=ly siga-l dgail avil. 10
SUEY)
Y (@) gedly @) 0
(2) -siorel 9l

(2) dawdl-) snu,
(60) aduid yadz [l dali amend), 10

ENGLISH VERSION

1 The following are the summarised balance sheets of 20
Zankar Limited.

Liabilities 2014 2015 | Assets 2014 2015
Equity share 5,00,000 | 800,000 | Land & Building 7,00,000 | 10,00,000
10% pref. capital | 4,00,000 | 3,00,000 [ Machinery 5,00,600 ; 3,00,000
G.R. 2,00,000 ¢ 2,560,000 | Furniture 1,30,000 1,63,000
8% Debenture 3,00,000 | 3,00,000 | Debtors 2,25,000 3,560,000
Bank O/d 2,50,000 | 2,00,000 | Stack 2,51,000 | 2,80,000
Creditors 1,80,000 | 2,320,000 | Cash 30,000 15,000
Bills payable 30,000 50,000 | Prepaid Rent 4,000 3,000
Unpaid Salary 8,000 5,000 | Preliminary Exp. 28,000 24,000

18,68,000 | 21,35,000 18,68,000 | 21,35,000

Additional Information :

2014 2015

Total sales 10,00,000  14,00,000

(Gross profit 3,25,000 4,10,000
Net profit (before_ interest and tax)

(Tax rate is 50%) 2,10,000 - 2,60,000

From the above information you are required to calculate the
following ratio :

(1) Gross profit Ratio. (2) Current Ratio
(3) Liquid Ratio (4} Debtors Ratio (360 days)
(B) Stock Turnover Ratio '

OR
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" 17 7 The following balances have been extracied from the books 20

of Sangeet Limited.

Equity share capital
10% debentures
Reserves & Surplus
Land & Building
Furniture
Closing-stock
Opening stock
Debtors

Bills Recetvable

8.,00.000
2,50,000
1,00,000
6,60,000

80,060
3,40,000
4,50,060
2,80,000

25,000

Creditors

Bills payable

Bank overdraft
Purchases

Credit sales

Cash Sales

Operating expenses
Net profit after 50% tax
Grross profit

1,60,000
30,000
45,000

12,00,000
16,50,000

5,22,000

1,23,000

1,27,500

3,893,000

Calculate the following Ratio :

(1) Current Ratio

(2) Net profit Ratio
(3) Operating Ratio
(4) Debtors Ratio (360 days)
(5) Stock turnover Ratio
(6) Return on equity share capital
(7) Return on capital employed

8) Gearing Ratio

(9) Creditors Ratio (360 days)

(10) Liguid Ratio

2 (@ From the following information of Janam Ltd. prepare 10
fund flow statement.

Liahilities 2014 2015 | Assets 2014 2015
Share capital 10,00,000 | 11,00,000 | Goodwill 50,000 40,000
Debentures 500,000 | 3,00,000 | Land & Building | 4,20,000 | 6,60,000
General Reserves 2,00,000 | 2,00,000 | Machinery 6,00,000 | 8,00,000
Profit & Loss Ale 1,10,000 | 1,90,000 | Stock 2,50,000 | 2,10,0600
Provision for Tax 40,000 | 1,10,000 | Debtors 3,00,000 { 2,40,000
Creditors 20,000 (34,000 | Bank balance 3,00,000 24,000
Bills payable 20,000 30,000 | Preliminary exp. 30,000 20,000

19,50,000 | 19,94,000 19,50,000 | 19,94,000

Additional Information :

(1) A machine with a book value of Rs. 40,000 was sold
for Rs. 25,000.

2) Income Tax paid during the year Rs. 40,000
(8) Rs. 50,000 provided as depreciation on machinery.

(b) What is Budgetary Control ? Write its nature and 10

characteristics.
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“What 1s & cashﬂpw_statement 7 How does it differ from 10

fund flow statement? o L
Write a note on Budgetary control v/8 standard costing 10

. write difference-

The budget estimates of Raja Lid. for the year 2015 10

are as under :

Gelling price per B RROS IR Rs. 600
yariable eXpPS- L P Rs. 360
fixod @XPENSes - Rs. 36,00,000

Calculate the following :

(1 PN Ratio

2) Break even point (in the terms of units and rupees)
(3) Necessary sales to earn profit of Rs. 6,00,000.
) Margin of safety if actual sales is Bs. 1,20,00,000.

What. 18 reporting 9 Explain it Functions in brief. 10
OR
The following particulars relate to the manufacture 10

of product X and product Y.

Paxticulars

Qelling price Per unit 280
Direct Material per unit 130
Direct Labour per unit B0
Wages Rate pe¥ hour 10

Variable overhead pexr unit

Pixed expenses total Rs. 2.60,000.

Which product would you recommend when labou¥ isin
short supply- Assuming labour hours as the key factor
and qvailability of which 18 65,000 hours. The maximuimn
sale potential of each product being 10,000 units. Find
the product mix which will give maximnum profit.

Giive the definition of management Accounting. Write 10
its nature and scope.
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4 @ From the following information calculate net monetary 10
TTTTTTTTTTTgAIn or loss during the year 2014.

Particular 1-1-2014 31-12-2014
Cash 30,000 40,000
Debtors 12,000 14,000
Bills Receivable 10,000 6,000
Outstanding exps. 2,000 3,000
Creditors 18,000 16,000
Bills payable 8,000 4,000
General price index 100 200

Average price index is 160

(b) From the following balance sheet of Pamrat Co. Ltd. 19
prepare comparative statement with bercentage.

Liabilities 2014 2015 [ Assets 2014 2015
Equity share cap. 3,00,000 | 4,00,000 | Land &.Building' 2,00,000 | 1,70,000
Pref. share cap. 1,50,600 1 1,00,000 | Machinery 1,80,000 | 200,000
General Boserve 40,000 70,000 { Furniture 45,000 30,000
Profit & Loss Ase 30,000 48,000 { Debtors 1,30,000 | 2,060,000
Proposed dividend 42.000 50,000 | Stock 77,000 | 1,09,000
Creditors 55,000 83,000 | Bills Receivable 20,000 30,000
Bills payable 20,000 16,000 | Cash on hand 15,000 10,000
Provision for Tax 40,000 50,000 | Bank Balance 10,000 8,000
6,77,000 | 8,17,000 6,77,000 8.17,060
OR
4 (@) Write a note on inter-firm comparison. 10
(b) Explain current purchasing power method. 10
5 (@ Give definition of marginal costing and describe its 10
advantages and disadvantages.
(b) Write the objectives of budgetary control. 10
OR
5 (@ Write a short notes : 10
(1}  Profit volume ratio
2) Margin of safety.
(b) Explain current cost accounting method. 10

RH-36307 ]

[ 30 ]



